More mock 3

 1. In the Fukushima incident, blue light was noticed in the reactor core several days after shutdown. This was a bad sign

 a) Because it indicated that sea water was inside the core.

 b) Because it indicated that the water was contaminated by radionuclides.

 c) Because it indicated that nuclear reactions were still occurring inside the core. *

 2. A Rainbow combines

 a) Cerenkov Effect and refraction

 b) Total internak reflection and dispersion*

 c) Dispersion only.

 3. In total internal reflection, 

 a) A transparent surface acts like a perfect mirror.*

 b) A transparent surface acts as a partially reflecting mirror.

 c) A transparent surface absorbs light.

 4. The image that you see on a projection screen while watching a movie is

 a) Real *

 b) Virtual

 5. Why is the pupil black?

 a) Because light is absorbed by the crystalline lens.

 b) Because light is absorbed by the retina and is not reflected back on the outside. *

 6. Why people of african or middle eastern origin do not have an iris?

 a) Actually, they have an iris. It is usually dark.*

 b) Because of evolution.

 7. The fovea is 

 a) The peripheral region of the retina.

 b) The central region of the retina.

 c) A highly sensitive detection system, different from the retina, in the center of the rear wall of the eye. *

 8. Optical illusions arise because 

 a) of the way the eye detects images

 b) of the way the brain processes images. *

 9. The fovea does not extend throughout the eye because

 a) Of energy consumption

 b) Of processing speed

 c) All of the above. *

 10. The brain receives

 a) Raw information from the eye

 b) Pre-processed information from the eye. *

